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Exercise 4.1

Q1. TW AHA FT T F:<, e ¥ 7w forfew
(a) ut= g

(b) TH TET

(c) =< &

(d) Ti= w@rave
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Q2. §9¥ aFfa § & g2 @71 & a3t 9 & & A forfeg | sy 57 9 g
# & frdft oft fog &1 T T aFa § |
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AB. AC, AD, BC, BD. CD, BA, CA, DA, CB, DB, DC

Q3. §97 AFiA Fr I@F< v T -



(a) ETt RSad fag E aftafea @
e vamt R figE = AF or FE
(b) A & BT ST aTAT T&@T

o AE or DE

(c)ag T ot O Raa g

g4 .

Eur E

(d) sf=8% TErstt ¥ &7 g

R

AD, CO andAE, FE

Q4. FMuffea & gt frat T@Td &=t o1 =t § ?
(a) T= fig

(b) %1 fag

7 : (@) A= LTt U feg o @i ST e g |

(b) 2 favgal uX Faar TF @r didt 7 g g |

. .
=)



Q5. fFuffaa Rafawt & & va@% ¥ T & T (ROUGH) 3T T9T3T i
St &9 8 39 ArHitRg fifvg :

(a) fig P t@rgve AB X Ruq g |

(b) @t XY it PQ fig M a8 < & |
() @TIWREMFRIa g, g D Rug 7 g |
(d) OP sk 0Q fig O T A=t 2 |

Q6. X@T MN it §9¥ Fa #1 IY | T A F gvad A Farsq & fafafea
FIT G ¢ AT AAH

(a) Q, M, O,N sik x@T MN < Rua ST § |
g . g9

(b) M, O =it N Y@TEvs MN X Ruyg fSg 8 |
gl . g9

(c) M siit N t@rEvs MN # sia fSg & |

7 A

(d) O =ik N X@T@ve OP F sia S5 7 |

7 AHA

(e) M@TETe QO F It AT fargai # A ww AT ® |



ERIE L)

(f) M T OP X U= fag 7 |

EEIE L]

(g) fvTor OP T QP & o g |

g g

(h) f<or OP =t & St <o OM |

gqa AT

(i) f<r OM 5w OP ¥ fwiT (Oppsite) TE T |
T ¢ ATqA

(3) O f&xwr OP =1 wrifos g 7T ¢ |
EEIE L]

(k) N f&Tor NP sik NM &7 3ifss g g |
g . A

Exercise 4.2

Q1. fim & gL awi # (i) AT AT (i) 9T IH F TT § T1FHq FQ :

2 P _' | | )
I e [ = 1 L
o il | y

() (b} lc)

(d} (<)

z : (a) gett aF

(b) 3= 7%

() geft =



(d) = 7%

(e) = aF

Q2. fw &1 =¥ FA & forw TF swFfaat I913Q :
(a) gar o=

(b) §T a%

g4 (a) gATTH

(b) &% a®

Q3. F% AT TP AT T IqF AFATL F AF1 %4 (shade) Fifw |

= : 9§« ABCD

Q4. ¥ rFfa F T@HF w7 7t F I AT :



(a) IR THF A7 ¢ ?
21 B, TR TR THE |

(b) FTIZ AT ?

2! g, TR UF A< g

Q5. Th AFfaal s THe, I F977 gr a1 e #r Trw Fifvrw :
(a) TF &3 9% ST TgYT T ¢ |

gl .

(b) ¥aw @TETe ¥ I g8 gHAT %

o .

(c) 3 qSTHA ATAT TH TG

T 1 T ST ATAT Ueh AT SATAT Tl ST qhelT |
Exercise 4.3

Q1. {fim & swwfa &, ;o F 7w forfyy -



= Tetaw g Rud: LABC, LCDA, LDAB, LDCB

Q2. gurwr asfa ¥, 9 fog g sr

(a) 4LDOE % ssdax & Raa § |

g : DOE Faredat e : A

(b) EOF % sfgwrf # Raa ¢ |
g7 : EOF Hafguni # Raa g : C,A,D
(c) LEOF wx Ruq § |

27 : EOFwwfRaag: E O, B, F

Q3. ¥ HUT At TF AFiaAr =g Srad



(a) 79 tw fag SwafRw gr |

g (a)

(b) 3v¥ 31 fag SwafAs gr |

gl .

(c) 399 diw foig swafs i |

e .



(d) 3% 91X foig swafRs gt |

o .

(e) 399 & fovor SwafAs gv |

T

Exercise 4.4

Q1. f3rssr ABC &7 T& TF 2 €if~w | 58 e & srwdiae & ww fag P &ifa
Forg 3T STF Tt § uw fog Q sifva ity | g A @ srae A Rua §
U gfRAnT 3 Raa & ?



g g ATT zar e g Rag gt sar afgwm & Rua & |
Q2. (a) &w¥ sl & i Fregeit A wg=T Ffre |

(a) & B & 1 Frsesr ABC, frst ABD, firsist ADC

(b) T F:uit F 1w forfew |

=< : LADB, LADC, LABD, LACD, LBAD, LCAD, £BAC
(c) =t arfa # = TErEst F amw iy |

2T : WETESi FATH G

AB, AC, AD, BD, DC, BC

(d) e 37 Bt & B SwafAs & 2

g 1 3was st 4B @ B ABC, B9t ABD,

Exercise 4.5

Q1. s ABC &1 T & o 2w | 30 Brqe & svdae & us fAg P sifea

Horg 3T g+ Feivit § u fog Q sifva A | g A T@F sriae A Rua g
a7 qiRATT § Raa g ?



g TR AT A e g Rag g At s afgwm & Raa 2 |
Q2. (a) Hww WA & A Fregstt Hit Tg=17 B |

(a) #= By & : s ABC, fstst ABD, frstst ADC

(b) TTa Fuit F A1 g |

z< : LADB, LADC, LABD, LACD, LBAD, LCAD, LBAC
(c) =&t arfa & =: YErEet ¥ 7w iR |

T Y@TESl AT g

AB, AC, AD, BD, DC, BC

(d) T 2 st # «B IwafAg § ?
g : 39as Brqst 4B @ s ABC, B9t ABD,
Exercise 4.6

Q1. Fu 7 FfY IEwHT AT

(a) I FT F=

g O F= g e |

(b) 7 Brsamd

z1 i Breamt : 0A, OB, 3w OC
(c) T= =™

71 AC

(d) T Sfram

g1 : U SET : ED

(e) AT ¥ & Y fifg

g avIae g O, P

(f) afRwrt ¥ & fifg



g1 Q

(9) T= FsaEs

=< : OAB

(h) T= gxEve

= : ED

Q2. (a) FAT T FT T&H ATH ITHI TF (4T Wl grar g ?

g & g, T AT T A ATH STl T (a1 AT grarg |

(b) FAT T T TAF SaT ITHT TF =ATq ft FrAT g ?

2 & Agl, T I TcAT AT SEHT U AT AT gl g |
Q3. #r¢ gv & g frer Ay sifa FfT
(a) S9FT F3

T IR Fw g O

(b) TF Fream

Z1 T A g OB

(c) == =™

7 UF A g AC

(d) = Breaes

# : OAB TF Fsags €,

(e) T FTEve

(f) S9%F A¥Ia< § TF fog

(g) 3&% afgwmi # ©= foig

(h) T% =19

Q4. T<F qT A9F qqr1:C :



(a) T F T AT 7997 & Tia==w F4T |
T A
(b) TT T F% 93T SUF AAT A Rag grav g |

gq 9T





